(B) ¥m29%4H1H

HEBILENBETH B GRS

F—ESHE—HN R TEREMIEARR)

ENBUERINZETRES

(£) ¥3043H31H

(BT . [)
BERIE FE(A) RE(B) ZR(A)-(B) =2

MERERBEINA 37,617, 000 35, 087, 000 2,530, 000
ENBAUBRIRA 0 0
BEEIRALEEINA 0 0
REBLINA 0 0
BPTIEBRINA 0 0
=Y —E XS BEITA 17,199, 000 17, 953, 089 -754, 089
EEREBRINA 0 0
EEBEINA 0 0

g | RERA 1,618, 000 1,599, 600 18, 400
IO 600, 000 476, 315 123, 685
IREREEBRINA 14,812, 000 15, 302, 257 -490, 257
FZESINA 5,252, 000 5,428, 587 -176, 587

E| |(sgmZRA 663, 000 2,000 661, 000
2| |BASFISHEIDINA 0 0 0
| [EEREEH S 0 0 0
g |ZEASESSINA 5,000 818 4,182
| [|EotomA 880, 000 1,931, 499 -1, 051, 499
£| | ABAEMECLSESEE 0 0 0
SEEHIRAT (1) 78, 646, 000 77,781, 165 864, 835

3 rER 51, 656, 000 50, 279, 385 1,376, 615
| (mzmsw 12,422, 000 10, 785, 178 1,636, 822
| |=mEwd 8, 243, 000 6, 642, 397 1, 600, 603
HPIIEE R T 0 0
BEEETH 0 0

F IS S8 HAR 0 0 0

X | SfEgR 0 0 0
t(tEEeTRSeSEE 2, 200, 000 1, 850, 000 350, 000
BmesH 337, 000 352, 000 -15, 000
aiBe%H 442, 000 415, 000 27,000
THFEZH 758, 000 758, 298 -298
ZOMOZH 0 0 0

B EETHMIESE LS 0 0 0
SEEHZ LT (2) 76, 058, 000 71,082, 258 4,975, 742
SEEHEeINEAR (3) = (1) - (2) 2,583,000 6, 698, 907 ~4,110, 907
R REmIEIRA 0 0 0

M| | MEREEEEEHRURA 0 0 0
= | IR | SBIEESBASIIA 0 0 0
x| A | EIEEESSHINA 0 0 0
B[ROt L BIRA 0 0 0
| |EERERERAG (4) 0 0 0
C| [EEAEREASEEEERE 2, 385, 000 2,384, 358 642
; BT EERSZ S 0 2, 440, 200 -2, 440, 200
% |EEEER- EER 0 0 0

D[ [Ir1 > 2 -2 EEORERE 0 0
IR| | zotomR s oS 0 0 0
% | |[mEEmERTEt (5) 2, 385, 000 4,824,558 —2, 439, 558
MR REERINT =% (6) = (4) — (5) -2, 385, 000 -4,824, 558 2, 439, 558
EEEEaB A taBEsMERA 0 0 0
EHESERBARIRA 0 0 0
BESEIEASINA 0 0

T |y | RME A REIRA 0 0
0| 5 [BEBMEESFEEDIA 0 0
e M E=E S hva =13 T ON 0 0 0
ol| |[ErEEmsRA 0 0 0
2| [ROMEOEHCLBIA 0 0 0
gy | [EOMDBEBIEAG (7) 0 0 0
c| [FHIEEREAETamERE 0 0 0
| |[EESRBEASTREESTH 0 0
& |EmEgesE 0 0
S | X |iyEaifEsEE 0 0
IR | 4 | EemrErEs 3,000 64 2,936
%| |[EusExd 200, 000 3,497, 530 -3,297, 530
ZOMBOEBNC LB H 0 0 0
ZOMOESNTHET (8) 203, 000 3,497, 594 3,294, 594
TOMOESNESINTZZERE (9) = (7) — (8) -203, 000 -3, 497, 594 3,294, 594
FREZE (10) 0 0

0

LB EEAsT (11) = (3) + (6) + (9) — (10) 0 1, 623, 245 1,623, 245
BRI ES RS (12) 13, 366, 224 27,909, 908 —14,543, 684
LER R EeREs (11) + (12) 13, 366, 224 26, 286, 663 —12,920, 439

11




